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1. Which of the following instructions (as described in the following language
description table) places 00000000 in register 57
A. 25FF B. 9555 C. 15FF D. 8555
Op- Operand | Description
code

1 RXY LOAD the register R with the bit pattern found in the memory cell
whose address is XY.  Example. 1443 would cause the contents
of the memory cell located at address A3 to be placed in register 4.

2 RXY LOAD the register R with the bit pattern XY. Example: 2043
would cause the value A3 to be placed in register (.

8 RST AND the bit patterns in register S and T and place the result in

register R.
Example: 8045 would cause the result of ANDing the contents of
registers 4 and 5 to be placed in register (.

9 RST EXCLUSIVE OR the bit patterns in registers S and T and place
the result in register R. Example: 95F3 would cause the result of
EXCLUSIVE ORing the contents of registers F and 3 to be placed
in register 3.

Which of the following is the binary representation of 4% ?
A. 100.11 B. 10.011 C. 110.101 D. 100.101

Which of the following bit patterns represents the value 5 in two’s complement

notation?
A. 00011010 B. 11111011 C. 00000101 D. 11111011

If the network identifier of a domain in the Internet is 115.48, how many unique IP
addresses are available for identifying machines within the domain (assuming 32

bit addresses)?
A. 4,096 B. 16,384 C. 32,768 D. 65,536

Which of the following bit patterns (represented in hexadecimal notation)

represents a negative number in two’s complement notation?
A. TF B. 55 C. A6 D. 08
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1. Object Oriented Programming
2. Binary Search Tree

3. Time Sharing

4. Deadlock

5. Machine Cycle
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+ ~  Programming Understanding (20 % &% 10 &)
1. Write a function to return the n-th term of Fibonacci sequence (1st term: 0, 2nd
term: 1) by RECURSIVE approach. ”
2. Write the output of following chunk of code(Notes: setw ( int n ): Sets the number

of characters to be used as the field width for the next insertion operation.)
it al3]]3]=¢{0, 1,1}, {1,0, 1}, {1, 1,0}}:

intb[3][3] = {{1,2,3},{4,5,6}, {7,8.9}}:

int ¢[3][3];

for(int i=0; i<3; i++){

e[i]Lj}=0;

for(int k=0; k<3; k++)
c[i][jl+=ali][k]*b[k]j]:

cout<<setw(3)<<c[i][j]:

1
f

cout<<endl;




